PROFESSIONAL EXAMINATION BOARD

Training Officer’s Selection Test : 2016
11th November 2016, 09:00 AM

Topic:- General Knowledge
1)

Question Stimulus :-

Wha% is the name of the airport in Bhopal? / viure fRua EHT'sf 3@ Hﬁ, g W | ST
SITdl &2

e Raja Bhoj Airport / ITGIl ‘l-ﬁTrIETJI'I'QF 3Tgl
e Devi Ahilyabai Holkar Airport / 331 if3eaTaTs Sled? SARRTEIT §aTg 3T
e Bhopal Airport / vare 331'5: Mgl
* None of the above / IUd& | A HIg A6l
Correct Answer :-Raja Bhoj Airport / XTSIl yiel EHTQ' 3MET
2)

Question Stimulus :-

On which of these rivers in Madhya Pradesh will you find the Chachai Falls? / 9 # 9, #eg
U o1 b At W MUt =g yura e

® Mahanadi / HgHdAI
e Bihad / digs

e Son / 9

* Narmada / -THgT

Correct Answer :-Bihad / ¥

3)
Question Stimulus :-

Who among the following writers belonged to the Chhayavaad school of writing? / fada
DI AT AES BAMEE! dE- JAadl & g S war?

¢ Ismat Chugtai / S¥Hd ﬂ’ﬂ?ﬂé
e Subhadra Kumari Chauhan / JHST $URY CIE]



® Amrita Pritam / 3{¥dTl UiGE

® Mahadevi Varma/'FIBTa'a:fa'le
Correct Answer :-Mahadevi Varma / 'q'ETa?ﬁ qut
a)
Question Stimulus :-

When was Chhattisgarh separated from Madhya Pradesh? / Y] U 9 Eﬁ-ﬂw
D 3T g3IT YT?

e March 1998 / U 1998

e June 1972 / T 1972

e August 1975 / 3FRd 1975

e November 2000 / -TG%R 2000
Correct Answer :-November 2000 / 9d&R 2000
5)

Question Stimulus :-

In which of the following States are Garo and Khasi Tribes found? / TRY 3R @r=dt
eIt fopa Isa § urdt el 82

® Mizoram / ﬁﬁﬁ?‘q
* Meghalaya / YTy
e Nagaland / ARTAS
e Manipur / 9OMQR

Correct Answer :-Meghalaya / H9Tdd

6)
Question Stimulus :-

Who is our current Union Minister for Finance? / Etlﬁ' GLEICH W e @ %'?

e Narendra Modi / T-ﬁ'si 'Fﬁ'(ﬁ
e Nitin Gadkari / fAfas Tt



® Arun Jaitley / 39Ul Steat

® Sushma Swaraj / UHT TR
Correct Answer :-Arun Jaitley / 3®U[ Stedt
7)

Question Stimulus :-

Who has been recently appointed as the new Director General of National Disaster Response Force

(NDRF)? / f & @ $19 AvFd feoRer i BRI (NDRF) &7 Tafgad WeIfHew® 8?2
e M N Kapoor / T T S
e RK Pachnanda / 3R & Ud-ial
e RKKini / 3R & ot
o Sudhir Pratap Singh / g9 warg Rig
Correct Answer :-R K Pachnanda / 3[R & UI-igl
8)
Question Stimulus :-

./ "TRe okl R fH & o

‘Sharad Joshi award’ is given for excellence in the field of

SeE-Ig aRTeM & forg wer faar sirar g2
e Social work / TS o
® Poetry / PIH

e Satire and other writing like memoirs and letters / TI-30 dYUT 3= AGT Y IR Td
AP

e Theatre / JTHA

Correct Answer :-Satire and other writing like memoirs and letters / TTRI-003 dYUT 3= EGE|
o HERUI T TS

9)

Question Stimulus :-

Salar Jung Museum is located in / AR ST UgIayg o fRya %I
® Bhopal / yiaret



e Hyderabad / %m
¢ Lucknow / 993

® Mysore / ﬁ'\‘l?

Correct Answer :-Hyderabad / %ETNF:;

10)
Question Stimulus :-

Who was the founder of Ramakrishna Mission? / IHWI fRF & TRITIS B A?
e Swami Vivekananda/ WaTH fader-c
e Ramakrishna Paramahamsa/ IH$WI WRHGH
e Keshab Chandra/ PG TH
e Dayananda Saraswathi/ ST a&ddt

Correct Answer :-Swami Vivekananda/ W4} fad®reig

11)
Question Stimulus :-

Which Vitamin is provided by sunlight to the human body? / HTHd TR & fog, ﬁff & USTY A UTW Bi ardr
et faerfiq i &1 372

® Vitamin C / faefiq

® Vitamin D / faerfa D

® Vitamin B / A= B

® Vitamin A / Vitamin A
Correct Answer :-Vitamin D / fderf¥=1 D
12)

Question Stimulus :-

Syed Haider Raza, who passed away recently, was a well-known artist from which country? / ﬁm‘d %3?

T, ot a1 # € g 5% §, @ Pl & UG daeR 4?

e India / HRd



e Bangladesh / AT

e Pakistan / U=

e Afghanistan / SHITARAT
Correct Answer :-India / HRd
13)

Question Stimulus :-

%‘his is the longest tributary river of India. / I8 YRd &I Gad AW gD T4l & ¥ H FAHT Sl
|

®* Ganga / T

* Cauvery / H1d3

® Yamuna / 9q-Tl

¢ Brahmaputra / S81YA

Correct Answer :-Yamuna / 391

14)
Question Stimulus :-

The longest state highway of Madhya Pradesh is / U U T Y9 &l ISP 1Y ISHAT

_____®
e SH-17
e SH-18
e SH-19
e SH-15
Correct Answer :-SH-19

15)

Question Stimulus :-

Port Blair is situated in / U SR G| R« %?

® North Andaman / IR 3SHTH



® South Andaman / ml'uﬂ 3EHT

® Middle Andaman / H0 3{SHIH

® Little Andaman / ®lel SSHTH
Correct Answer :-South Andaman / Gf&oft 3T
16)

Question Stimulus :-

“Valley of Flowers” National Park is in the State of / “Jeft ST weITas” AT T
e Iou o fRya 82

e Kerala / A

e Himachal Pradesh / fgHTaa uewr

e Uttarakhand / STRTGES

e Jammu and Kashmir / 97 3{R SR
Correct Answer :-Uttarakhand / STRTGES

17)

Question Stimulus :-

Which festival in Kerala is famous for boat race? / I H HIF-9T ?Cﬁ?ﬂ' GICal a@‘; & ﬁl’Q’ s %’?
® Pongal / i
e Holi / gieil
e Diwali / m
e Onam / 3urH
Correct Answer :-Onam / 3{1UTH
18)

Question Stimulus :-

Where is the headquarters of the Bureau of Police Research and Development (BPR&D) located? / aB)f

31w gfer frad s Saaudic (BPR&D) &1 GBI Hgi (R 82

e Madhya Pradesh / HY TSR0



® Chennai / a'_"lg
e New Delhi / T8 faeeit
e Ahmedabad / 3lgHqIdIg

Correct Answer :-New Delhi / q’:‘f foeett

19)
Question Stimulus :-

Mahatma Gandhi started his first Satyagraha on Indian soil in 1917 at / 1917 ﬁ, YR DI ‘3;[&[ TR #wgre et
= 3UAT UgAT TATIE Hei I I fhar U1?

® Champaran / YR

* Bardoli / SIRSIE

® Sabarmati / ATERH

® Ahmedabad / lgHQIdTq

Correct Answer :-Champaran / 9URU

20)
Question Stimulus :-

Which place of Ma%(.lhya Pradesh is called ‘Detroit of India’? / A USRI & fHd I &I ‘éﬁl‘s’ﬁ 3P
sfear g1 &rdn 872

e Jabalpur/ TdeTYR

® Indore/ E_a?

® Pithampur/ ﬁ?-l'q'ﬂ'\"

® Ashok nagar/ 3P TR
Correct Answer :-Pithampur/ lﬂw
21)

Question Stimulus :-

Which country will be hosting the FIFA U-17 World Cup, 2017? / f= ® @ &19 91 3w, 2017 ¥,
FIFA U-17 fa=a #9 &1 A S3m?

 Brazil / STold



e India / HRd

® England / sﬁ:c:

® Spain / LE|
Correct Answer :-India / HRd
22)

Question Stimulus :-

What is the annual dance festival at Khajuraho organised by Madhya Pradesh Adivasi Lok Kala

Academy called? / AT USRI ATTEATE i Fel SrbIeH! GRT WoRTe! H ARG giHara arfie®
T HEIod $T A1 T 8?2

J Lokranjan/?ﬁmq
® Manoranjan / AR
° Nrittanjali/:lﬂ'iﬁlﬁf
o Nrityotsav/ﬂ?‘zﬁm

Correct Answer :-Lokranjan / GIEEEE

23)
Question Stimulus :-
In Madhya Pradesh, which scheme is introduced to provide financial help to the poor, needy, destitute
families for marrying off their daughters/widows/divorcees? / H& 2| ﬁ’, ﬁ'ﬁh, WeXaHe, dfed
gfearl &1 afedi sryar faearsi/aaregger afgarsi & faar & e fawia Serar ueq #v1 &
forg fw g &1 sy fsan 82

* Biju Kanya Ratna Yojana / WW LGEICEI

® Laadli Laxmi Yojana / m F[&"lﬂ GrerT

® Mukhyamantri Kanyadan Yojana / 'ﬂ'@l’lﬁﬁ FAGH o1

e Beti Bachao Abhiyan / St FEmeht SfiEE
Correct Answer :-Mukhyamantri Kanyadan Yojana / 'ﬂ'@Tﬁﬂ' FATGH ISl
24)

Question Stimulus :-



Which is the capital of Jharkhand? / SIRES P} IS FT 32
® Dhanbad / Y4dTq¢
® Bokaro / SIPRI
® Ranchi/ Tﬁﬂ

® Jamshedpur / Emﬁa'g?

Correct Answer :-Ranchi / 3t

25)
Question Stimulus :-

Who among the following Nobel laureates is a champion in the fight against deforestation? / SICL)

R@R & 9 fasarsh # @ a9-eH & f9es, as-an safdd o4 §2
e Linda Buck / fRiST 9%
e Francoise Barre / Widisd dR
e Wangari Maathai / ST} 9YUTS
e May- Britt Moser / H-foie TR

Correct Answer :-Wangari Maathai / GTRT AYUTS

Topic:- Machinist
1)

Question Stimulus :-

The angle made by the face of the tool and the plane parallel to the base of cutting tool is called? /
STV & B 3R FHelg ST & YR & FHIaR ad & gRT FATHa Ho1 a1 Hgarar g2

e Rake angle./WHﬁW
e Clearance angle. / FGRY ST
e Cutting angle. / $CTS HIUT
e Lip angle. /g siur
Correct Answer :-Rake angle. /W&ﬂ'UT

2)

Question Stimulus :-



Safety signs are / qrean ﬁl% %

* TFirst aid point / YTYfH® SUAR fag

® Indication / Jddbd

* Indication to avoid accident / gﬂE:IT | 9949 & Hobd
® Precaution / ATaYTT

Correct Answer :-Indication to avoid accident / gﬁE:IT A 94 & Hobd

3)
Question Stimulus :-

The type of drill used in drilling hard material with high cutting speed is ./

TAY & UPR B

I BeTs fd & 1Y FoR yerd @) f5fa v & ugea fvar winan 21
e High carbon steel / & PTIT ST
* HSS/THAQHTYH
e Carbide tipped drills / FTaIgS PRFE @
* HCS/UgdeH
Correct Answer :-Carbide tipped drills / PTaI3S SRRfT f&a

4)
Question Stimulus :-

Web chisels are used for separating metals after ./

& forg 99 B+1 vy 91 9Tl 7

® Chain drilling / &l qaee

® Chipping metal / YTq CIGE]

* Finish cutting / =T weTs

* None of the above / UG H & Bl A8l
Correct Answer :-Chain drilling / & YdU

5)

Question Stimulus :-

& UYTd YT JURHROT



G-codes are also calledas ./ G-BIS Bl ot Dol Sildl %I
® Preparatory functional codes / et vaRAa dis
e Miscellaneous functional codes / FHRIGTOT WaRd HIs
e Data functional codes / ST WaRTd DI

® None of the above /?Fl'ef I ﬁ's‘ qﬁ

Correct Answer :-Preparatory functional codes / firiedt =T Fis

6)
Question Stimulus :-

The silicon carbide abrasive is chiefly used for grinding? / Wﬂ'mm U‘I@'Wﬁm
e & e wrge gt 82

e Ceramic / Rrfae

e Cemented carbide / drfea ngg

e (Castiron /m‘?ﬁﬂ

e All of the above / IR gt
Correct Answer :-All of the above /B‘lﬁ]ﬁﬂﬂ-ﬁ
7)

Question Stimulus :-

You have to machine a flat surface on a work piece of two meters length. Which machine will you choose
for this? / 3TID! g Hex dd THAA ¥ & g NH R WA TR F-1 81 39 e 3y Hi A
7R BT 997 B3

® Planning / T

e Slotting / AT

e Milling / fifeim

® Shaping / AftT

Correct Answer :-Planning / T

8)



Question Stimulus :-

The tooth thickness of rack is measured by? / 33? & E"\IIT‘T | tﬁ?lg ﬁ"_\‘la? aRT TG SATeit %?
® Universal vernier caliper / Irdviy affar SR
® Gear tooth vernier caliper / iR E"\IIT‘T afiR R
® Flange micrometer / T msaﬁtﬂ?\f
® Gear tester / iz wdee
Correct Answer :-Gear tooth vernier caliper / iR gfa affar Fferar
9)
Question Stimulus :-

The surface cutting speed in cylindrical grinding varies from ./ STATPR ﬁwﬁﬁqg

CIAERIIT] frRu B 2

e 10 to 20 m/min / 10 ¥ 20 m/min

5 to 10m/min/ 5 d 10 m/min
e 20 to 30 m/min/ 20 ¥ 30 m/min
e 40 to 60 m/min / 40 ¥ 60 m/min
Correct Answer :-20 to 30 m/min / 20 ¥ 30 m/min

10)
Question Stimulus :-

Which one of the following clutch provides a positive drive? /Frafafaa & Q S9-91 Fa9 uifsifea
$13d UG Hdl 82

® Dog clutch / ST Ferd

* Cone clutch / (P (ﬂﬁT{) CNE

e Single clutch / T d (RivTen) e

e Centrifugal clutch / TPEIT @W CNE

Correct Answer :-Dog clutch / BT &1

11)



Question Stimulus :-

Which one of the following is an artificial abrasive? / ﬁﬂ!ﬁl@ﬂ k| GaC| Udh ?‘ﬁ'ﬂ' KL %?
* Emery / Q'FI'\&
e Diamond / 'Eﬁ?T
e Corundum / PRSH
e Silicon carbide / IGIGCDE W’fs_b"
Correct Answer :-Silicon carbide / RIfeT®T m

12)

Question Stimulus :-

Surface plate is madeoutof . /UGB UR®HT _ JA s @At B
* Mild steel / {g SUId
® Quality cast iron / J[UIG<T hl G
e Rubber material / ¥d¥ UET?-f
e Steel / THTd

Correct Answer :-Quality cast iron / 0TGN Sl dlgl

13)
Question Stimulus :-

Tool life is affected due to____ ./ JUHIUT BT oftad pTal | YHIfAd grar 1
e size of the tool / SUHIUT & SHTHTY
® size of the job / AT & STHTY
® type of machine /R & UPR
® cutting speed / Bfd Bt ufa

Correct Answer :-cutting speed | B &t afa

14)

Question Stimulus :-



The tensile strength of metal is its ability to resist fracture when subjected to tensile loads, the tensile strength of metals

are expressed in____ . /THd} urg Y a1-amdy ag uient @ St U @71 ufoRiY $Rar @ 99 ¥ 99 UR
%?ereﬂqa‘n%ngaﬂaq:rm?h H sgad @1 Wt 21

® N/mm3

® Kg/mm sq

® N Meter

® Kg. Meter
Correct Answer :-Kg/mm sq
15)

Question Stimulus :-

Segmental chips are formed during machining of . %W%?ﬁ?ﬁ

weyad o AfRfa i #
* Mild steel / g S¥UTd

e (Castiron /m'?ﬁ?T

® High speed steel / Gﬁ"lﬁm
¢ High carbon steel / WWW
Correct Answer :-Cast iron / EFIH’I'Fﬁ'e!T

16)

Question Stimulus :-
The thickness of rack tooth of 2 mm will be /2 forft & ¥ cd L4 n’lz'rs‘ il

® 4,50 mm
®* 4 mm

® 425 mm
* 3.14 mm

Correct Answer :-3.14 mm

17)

Question Stimulus :-



The tool post of a planning machine is mounted on ./ T HRA T SUBROT W W
w1 gt g

® Apron/ 'Q'L'FI'

® Cross rail / B ¥

® Clapper box / FAWR S

e Saddle / ¥sd
Correct Answer :-Clapper box / FAUR gl
18)

Question Stimulus :-

2D control can be simultaneous feed only_./ZEﬁﬁl'da'UT—W wuwﬁs%mmm%l
° in30fthe2axes/2ﬁﬁ33{&‘ﬁ:ﬁ:
) in20fthe3axes/3ﬁﬁ23'l'&h:ﬁ
* in3ofthe4axes/4 H O 3 37&ff &
° in40fthe3axes/3ﬁﬁ43{&ﬁﬁ

Correct Answer :-in 2 of the 3 axes / 3 H I 2 3f&ff #

19)
Question Stimulus :-

The axis of the plate cam blank and the end mill spindle should always remain

/R FIAF TG s RN RisaF giwda_ wd
® Inclined to each other / T GEX WX P! 53

® parallel to each other / TP GO & THIGR

® Opposite to each other / T guX & fqusia

® Vertical and inclined / S¥ATUR 3R Pl §%

Correct Answer :-parallel to each other / TP GaX¥ & THIMR

20)

Question Stimulus :-



If the diameter of the hole is subject to considerable variation, then for locating in jigs and
fixtures, the pressure type of locator used is ./ afe g s1aE™

TRadT F AN g, TR IR PR FI™UMEF M, AP & 6 T ISR SUYH ¢!
e Cylindrical locator / SAATPR Alhex
* Conical locator / P Gldbex
* <V’ locator / G Widex
e Diamond pin locator / g1 fU @hex

Correct Answer :-Conical locator / Waﬁﬁ?

21)

Question Stimulus :-

The depth of% cut in drilling is the drill diameter / HatF § BT BT TIFTI'&" yaeH & AT &
I

e Equal to /IHH
e One-Fourth /W-iﬁm':{'
e Double /gL
e One-Half / 3meft
Correct Answer :-One-Half / 3¢l

22)

Question Stimulus :-

An ideal machining allowance for finishing boring will be J a8 @ﬂ‘T) G| T PP ﬁl";’ ICR R NIEE v
g gl I

® 1 mm to2 mm

® (0.5mm to 1 mm

® 0.25 mm to 0.50 mm
® 0.10 mm to 0.25 mm

Correct Answer :-0.10 mm to 0.25 mm

23)



Question Stimulus :-

A taper ring gauge is used for checking J/ ¢UR &1 TS &7 U4 P ST & ﬁl"’{ '@?ﬂ %I
Internal tapers / 3iafe cud
External tapers /ﬁ'l?'\& oo

Plain diameter / FTHI] ATH
External threads / STg<1 iﬁﬁ

Correct Answer :-External tapers / A8 SuH

24)
Question Stimulus :-

Which of the following parameters influence the axial feed rate in centreless grinding? / Ppoied ﬁWTs:

H srefta wRor R 3t e A @ S 11 FuEn yuTfad sRar g2
e Speed of the regulating wheel. / T ufga @t fa
e Regulating wheel diameter. / Fraa® ufgd w1

e Angle between the axes of grinding and regulating wheels. / fUHTE &1 3181 3R
e ufgd & S

e All of the above. / SURIad It
Correct Answer :-All of the above. /B'Qﬂ?ﬂﬁ‘l-ﬁ
25)

Question Stimulus :-

Which is the correct expression for the unit of feed rate in milling? / faferT o w=or DI ng %m
I |1 UG W1 82

® m/min.

® mm/rev.
® mim/sec.
* mm/min.

Correct Answer :-mm/min.



26)
Question Stimulus :-

The purpose of the holes provided on the sides of the sine bar is to /I dR & I A ﬁT{

TSR Py |

® prevent distortion / fa=qur ?.137_"|T %I

® fix on angle plate/ﬁﬁW@EW fRRY H31 81

e handle easily/GITﬂT'_'ﬁ d TANT H 91 BT %I

® minimize surface contact / ddg W Ca| “YAdH HIAT %I
Correct Answer :-fix on angle plate / PV We W R FHAT %I
27)

Question Stimulus :-

Function of a chip breaker in a tool is to ./ fret Suswur & fou 9% &1 FH %I
® break the chips in to small pieces / fou @1 Bie-sie w s | ?ﬁg'_ﬂ
® have continuous chips from long cut / ddl ®Te J TER e ure S0
® have crushed chips / efera ey ure &1
® form continuous chips from short cut / DI FIe § TMAR Iy 91

Correct Answer :-break the chips in to small pieces / fa &1 BB gﬁ’f H ?ﬁ?:T'lT

28)
Question Stimulus :-

The least count of a vernier height guage is / WWWWW %—
e 0.01mm /o. 01 &
e 0.02mm /0.02 At
e 0.10mm /o.10 fdt
e 0.20mm /o0.20 fdt

Correct Answer :-0.02mm / 0.02 fit

29)



Question Stimulus :-

The primary function of the cam is to convert_ ./ &Y 1 WU ot _ ufeafda s %I
® Reciprocating motion into rotary motion / UARTHAL T &1 'tIUﬁ fa o
® Rotary motion into reciprocating motion / qUTf Tfd B TARTHAHT Tfd |
® Up and down motion into linear motion / ST Gﬁ'\" fFradt wfa ﬁw LICK:]
® Linear motion to angular motion / e i+ Hiofg wfa &

Correct Answer :-Rotary motion into reciprocating motion /Q:Uﬁ. Tfd & YARTHAT Tfd o

30)
Question Stimulus :-

A traveling steady is fixed on the saddle of a lathe. What is the function of this travelling steady rest? /

aY & A5d R fAafia Jgaa RR 21 59 fafta deea o1 e g2

® To prevent bending of long shafts due to cutting forces. / WI% I & PRI a%mmaﬁgsﬁ T

® To avoid load on the lathe centers while turning long. / T+l 'ﬂ@ﬁ P IR AY F51 W UR BI
BT

® To reduce the load on the cutting tool while turning. / g@ﬁ% eRME WI%WT R YR & HH
HIAT

® To enables to turn at higher cutting speeds than recommended. / m@mﬂﬁ g3 m
T4 TR g & &H 1

Correct Answer :-To prevent bending of long shafts due to cutting forces. / WTSCWQ'T PRUI T
TMTTE 1 o+ J IJHT
31)

Question Stimulus :-

Rough & finish boring operations are carried out to machine a hole in a milling machine, for rough boring,

select ./ T fafem m=is & ue fog &) a=iie @ o3 & e TRgy ok e aum vemer far
WId 8 | WGRgY vaTe & g, aaq Fiforg

® High spindle speed & coarse feed / 3= ?{\Ff fd Tg VYT HIOT

® Slow spindle speed & coarse feed / HG {-[ﬂ LIG| Td VYA HUT

® Slow spindle speed & fine feed / HG ﬂﬁ Tt T 3BT WO



® High spindle speed & fine feed / 3= 'ﬂ'& TTfd TF 3IST URT

Correct Answer :-Slow spindle speed & coarse feed / Hg 'ﬂﬁ Tfa Td B HRUT

32)
Question Stimulus :-

The frictional guide ways are of ./ YU 1113‘5'-%

o V-type /d-UPR

e Dovetail type /@WW

e Flat type /uﬁam

e All of the above/ IURIad I+t
Correct Answer :-All of the above/ IURIad It
33)

Question Stimulus :-

The pattern on the surface caused by the movement of the cutting tool is called

gl

. | BT IUBUN H1

Ty & $RUI gy W FAffa @@=y Heard gl
® Waviness / dTHAT
® Roughness / gIgITU-d
® Surface texture / Y8 d-Idc
o Lay/ o
Correct Answer :-Surface texture / J§ d-Idc

34)

Question Stimulus :-

In a bilateral system of tolerance, the tolerance is allowed on ./ Fedl | %‘Tm YoTTeTt s |

@1 argafa &t ot g1

 one side of the actual size / IRAA® ATPR & TH RP

» one side of the nominal size / AP AP AMPBR & TH P

e both sides of the nominal size / Gibfd® ATHR P Sl B



e both sides of the actual size / IRAfAP ATHFR F Sl RB

Correct Answer :-both sides of the nominal size / Gibfd® ATHR F Gl d¥P

35)

Question Stimulus :-

The accuracy of micrometers, calipers, dial indicators can be checked by a . ﬁmm, %i%m’r‘, S
Hhdd! &1 IRGdl Bt S & GRT B o Gl gl

e Slip gauge / 7 19

®* Feeler gauge / WA A

Ring gauge / &1 7w
®* Plug gauge / &I |
Correct Answer :-Slip gauge / &7 i

36)

Question Stimulus :-

Morse taper is one of the internationally accepted standard tapers. The morse taper are available in numbers

from___ . /AN R IRBU W REPR R A A TH 31 AR R ____ s # Suasy 31
*0 to6/0%6
*°0 to8/0%8
*1 to7/197
* 1 to 8/1%8
Correct Answer :-0 to6 /096
37)

Question Stimulus :-

A steel work piece of high tensile strength is to be machined with a HSS milling cutter,
which one of the following rake angles is best suited for cutter? / 3« ddd IHYdg T THId
3% T HSS ARt wex & Iy w=fifa 81 & g 81 #ex & fore A & @ &1 31 e o walfie

SUYH 8?2

080

e 120



e 200
o 280
Correct Answer :-8

38)

Question Stimulus :-

%he sensitiveness of the spirit level depends upon ./ Fufye dga #1 ﬁ'JITI%?lT R R gt
I

® size of the bubble /W & 3THTY
® length of the glass tube / PIg DI Tl B am‘s‘
e type liquid filled in the glass tube / P B Toll § WX Y &«d & UPR
® curvature of the glass tube / HId BI Tl P Ipal
Correct Answer :-curvature of the glass tube / P DI Tl I gpal
39)

Question Stimulus :-

Any number of equal divisions can be obtained on milling machine by ./ Tafeir w=fis = gue fAvueE «t
FRWHEST___ gRIMW S dEsdai gl

e Compound indexing / faf8a srgpaor
e Simple indexing /93 AJHHUT
e Differential indexing /Fq’ﬂwartwqw
e Direct indexing / UcI& MJshHUT
Correct Answer :-Simple indexing / IXd b HUT

40)
Question Stimulus :-

Tool maker buttons made of ./ gd AP e & T4 B1d ¢
e Plastic/ WTRC®H
* Bronze/ HIH



e (Castiron /W‘f ?ﬁ%

* Hardened steel / PSIX edId
Correct Answer :-Hardened steel / HSIR HId
41)

Question Stimulus :-

A product is said to have the quality when ./ T I1G N UG a9 WL Sl § o
|

® Its shape & dimensions are within the limit / SH®T MTPY 3R ﬁ'FITE" Idrar | Ea'l
® It appears to be very good / dg dgd 35T Udid il
o Itis fit for use / 98 SUART H IUY T |
® The choice of material is right / tl?."ﬁf G| WE{ Wﬁ 33“
Correct Answer :-It is fit for use / 98 SUANT # UG & |
42)

Question Stimulus :-

The lip angle of a single point tool is usually ./ hd ﬁgmaﬁrﬁmﬁw TR
W gargl

« 20° to 40° / 20° % 40°
e 40° to 60° / 40° = 60°
« 60° to 80° / 60° & 80°
e None of the above / SURITT U A BIg gl
Correct Answer :-None of the above / SURGT H A HIS g1

43)

Question Stimulus :-

Clamps are used for the purpose of ./ T B YART § M T gaeT %I
® carrying material from machine to machine / Y == 9 m U= a&F ARl @ ST

® preventing movement of work / 1 I T BT ARy



® preventing scratches on machine / AR IR @Ri" T @ &1
® maintaining accuracy / qﬁ'{[@?ﬂ 41 X9-T

Correct Answer :-preventing movement of work / o1 ot A F1 FARIY

44)
Question Stimulus :-

The major load applied in Rockwell hardness testing in ‘B’ Scale is J & Thd | Idpad

FoRd WU A A fPar mygE @ gl
* 100kgf.
e 150kgf.
e 120kgf.
* 300kgf.
Correct Answer :-100kgf.

45)

Question Stimulus :-

Fixed type of snap gauges will have / fprs a1 fRR AT A9 A _
e ‘Go’ & ‘No-Go’ on either ends. / forft U RR W™ T iR = e 3.1% %I
® ‘Go’ & ‘No-Go’ on the same end. / Uh ﬁ Rr v G'ﬁ'\' Y M ﬁﬁ %'I
® ‘Go’ & ‘No-Go’ separately. / TN 3R <A M SAAIT-3HERT Eﬁﬁ %I
® ‘Go’ & ‘No-Go’ on both ends. /3.171.1' R v e Gﬁ? Y M 'éﬁ' %.I
Correct Answer :-‘Go’ & ‘No-Go’ on the same end. / Th g’f ﬁﬁ' 'Y ap Gﬁ? Y M Eﬂ?f %'I

46)

Question Stimulus :-

Hack saw frame is used to cut along with WA IGCJ 3T} T & 1Y

FTeA & fore wgaa gian 2|
® Hacksaw blade / YTJ®PIC AN AT

® Material / TRt



e Retaining pins / 4RI fU=
® Wing nuts / fesdt
Correct Answer :-Hacksaw blade / YTI®IE 3R oS

47)

Question Stimulus :-

The cold chisels are made by ./ B¢ D1 ERT 9118 wTdt 3
e Drawing / STg1
e Piercing / Y
e Rolling / AFAT
e Forging / WYt
Correct Answer :-Forging / BT
48)
Question Stimulus :-
The prick punch point angleis? /U T g #ur g2
e 30 degree / 30 f&it
e 45 degree / 40 &
e 90 degree / 90 f&iht
e« 120 degree / 120 f&h
Correct Answer :-30 degree / 30 f&ih
49)

Question Stimulus :-

The forms of spline are ./ T&IIg F ¥ g ]
® Straight & involute spline / Wer 3R siadfera TG |
® Straight & angular spline / Her 3R wivfy TATg |
® Involute & angular spline / Jfadfera ik vl LaSIERT



® Involute & square spline / Jfadferd ok PR LNIERE
Correct Answer :-Straight & involute spline / THT 3R Sfqdferd TEI

50)

Question Stimulus :-

Files are classified according to their WECIk ko ¥ IR Tffed fbar Srar 81
e Kinds /UYPR
e Use/ ST
® Make / famtor
® Length, grade, cut and shape / ?IWI%, guft, He 3R ATPR
Correct Answer :-Length, grade, cut and shape / ?I'WT&F, goft, He 3R ATPR
51)

Question Stimulus :-

Suitable machine tool for high speed parting off work on material like cemented carbide is
ﬁlﬁﬁaa»‘ra'fgs Wﬁmmnﬁaﬁqmmmmﬁ%mwmmmé
® Do - all machine / § — e w=i=
® Heavy duty power saw / it fea=mer 3
® (Cutting off machine / ®Te 31 7R
¢ Milling machine slitting saw / e w=fta feafér amd
Correct Answer :-Cutting off machine / Pl Dt A=A
52)

Question Stimulus :-

A jig is a special device which provides to . / Tor1 v T faRiy SusRvr @ St
® holds the job / SITd B UHS QT g
e locate the cutting tool / BT g & Stb T ST UdT T 3|

* guides the tool / €& BT NI & Pl |



® holds, supports, locates and also guides the cutting tool / Carall cd :al m ™dl %, HelRT adr %,
31 RIT BT gl TGT § 3R A1Y F BT AR g2 Wi Feat g1

Correct Answer :-holds, supports, locates and also guides the cutting tool / Carkll e G| m
TG 7, GERT odT g, 31 RITH BT UdT TTdT & 3R 1Y & IHBT ART g2 H ®d1 21

53)
Question Stimulus :-

Soft jaws or vice clamps are used in the vice to hold WA IE) A $Hd \_IITSI% qr 9159 T
oI TP+ & T uged g &

® Hard work / AR BT
® Heavy work / YIS &Td
® Finished work / 9UR &I
® Castings / ¢l 5 9%

Correct Answer :-Finished work / G9R ®Td

54)

Question Stimulus :-

The temperature to which a work piece is heated depends on the material & the type of forging process, the

temperature range for forging low carbon steel is? / dTHHTT ﬁmwa%tﬂvma?n%, W?-f GﬁTlﬁﬁf‘Tma?
THR R AR Ear g | g s swuma wifcht & fore aruam wr wn g

e 800-1300 deg Celsius / f&3 AfRTTT
* 650-920 deg Celsius / &I} AfRTaw
* 700-800 deg Celsius / &} AfRTaw
e 450-700 deg Celsius / &I} GfRTaw
Correct Answer :-800-1300 deg Celsius / f&3f AfRmaw

55)

Question Stimulus :-

The co-ordinate system in milling machine comprises ./ fofeq w=is &t guf<a yomet o
__ AH T E

e 2 axes/2 &



® 4 axes/4 3
e 3axes/33H&

o All of the above / SUYad T

Correct Answer :-3 axes /3 3{&f

56)

Question Stimulus :-

The error in squareness can be accurately determined by using J ABRYT o aﬁé Zﬁ' grar sy tlﬁ'-‘{[c?x_cﬂ &
1Y 91 & g ST TART HIAT AT

® Try square & slip gauges / ¢Ig W \’rﬁ?’ ENLRIE]

® Try square & feeler gauges / IS WU Gﬁ?' WieR I

® C(Cylinder square & slip gauges / Rrdsy W 3R & =
® Bevelled edge of Try square / ¢Ig W & Yafve fFIR

Correct Answer :- Try square & feeler gauges / ¢I§ W 3R WieR A%

57)

Question Stimulus :-

The fullers are used____. / PR &I STANT & ﬁnz T srar %I
e for necking down a piece of work / f&dl & §H9 & Wama (AfFHT1 s169) & forw
e for finishing flat surfaces / JU¢l Wdg & TRHIOT
e for punching a hole / DG BH
e to finish the punched hole / 3¢ & U¥sHIUl

Correct Answer :-for necking down a piece of work / f&ft a6 Wi & Har= (Afdn
S13) & fag

58)

Question Stimulus :-

The cutting tool in a milling machine is mounted on . / e a=it| ﬁm‘s‘m
RAMTgare|

® Arbor /mﬂ'\ﬁ




® Column /&Y

* Spindle / &

® Knee / DIl
Correct Answer :-Arbor / 918 &
59)
Question Stimulus :-

The function of the spindle in the vice is

/arsd ¥ 48 T PR

* Holding the work / BTd &I UHST

® Moving the moveable jaw / Tfa=ia Gﬁ% GGG

* Holding the handle / 8 &I UH ST

e None of the above/m k| aﬁ's‘ qﬁ

Correct Answer :-Moving the moveable jaw / TIfA=d Sag HI TATT

60)
Question Stimulus :-

The tool made of HSS wears out faster at

aoft & e §

® Normal speed / IR RG]

® Slow speed / i wfa

® Medium speed / ¥ i

® Fast speed /a\_rl'lTﬁl'
Correct Answer :-Fast speed / dT Tt
61)

Question Stimulus :-

A file removes the metal during WEGi|

* return stroke / TRt WP
e forward stroke / 3l qTd WTIH

¥ ERM uTg geTdt 81

g

./ waugey | fAfdfa Susor



e both forward and return strokes / 3 3R ATt At '\‘Ej?rﬁ
* none of the above / 3TH § ®I3 T8I

Correct Answer :-forward stroke / 3Fl 91 W&

62)
Question Stimulus :-

The rear teeth of a broach ./ %_&"UT Caj mﬁa |

® Performs burnishing operation / SqHToI- UdTel froarfea wear %
® Removes minimum metal / <JTdH YT Tl ?
e Removes maximum metal / 3(fe[&aH %ﬂﬂm%

e Removes no metal /ﬁé ﬂﬁqﬁm%
Correct Answer :-Removes maximum metal / 3ifrepaw 'ﬂ'lﬁ??l?ﬂ%

63)
Question Stimulus :-

Ratio of water to soluble oil to prepare coolant is / Haas & ﬁﬁw%mwmgﬂﬂvﬁﬁﬁﬁﬁ SUTd ?
e 20:1
* 40:1
e 10:1
® 60:1
Correct Answer :-40:1

64)

Question Stimulus :-

The blank diameter used in thread rolling will be: / ﬂ;‘ﬁ (ﬂa ﬁ) 31 et # wanT far 9= aren
P TH:

e A little larger than the minor diameter of the thread /?@:T & oY A | %ﬁS_T-W

ST ghm|

e Equal to pitch diameter of the thread /i[\f'?r & fUg o9 & R EﬁTITI



e Equal to minor diameter of the thread / T8 & @Y N & §RTaR BT

o A little larger than the pitch diameter of the thread / g3t & fUa =™ 9§ YIS1-91

ST ghm|

Correct Answer :-A little larger than the minor diameter of the thread / I8! & g
T | 4IST-91 98T gh |

65)
Question Stimulus :-

Counter boring is done for ./ BIER e - CARTIG] %I

® De burring hole ends /%ﬁ F R o RipT H & ﬁl’({'

® Enlarging holes to accurate size / fosl & I PR dF AR & ferg

® Finishing cored holes / PIs ol #l 908 & ﬁl’[{

® Accommodating socket head screws / dibe %:‘;" p &l fam & ﬁl'l'{
Correct Answer :-Accommodating socket head screws / Hide g8 P o1 fira= & fore
66)

Question Stimulus :-

When the cutting edge of the tool is dull, then during machining . /Wmmm fraRTvig 8t
ST §, 99 AR & ¢RI |

® Discontinuous chips are formed / 3¥dd ﬁﬂﬁ'ﬁﬁéﬁf%

® Continuous chips with built-up edge are formed /%W%qumﬁmm%
® Continuous chips are formed / ddd ﬁmﬁr&haﬁ %

® No chips are formed /aﬂé ﬁuﬁrﬁf’dqﬁ@m

Correct Answer :-Continuous chips with built-up edge are formed / FfHfa f=TRY & w1y o« i Affa s

g

67)

Question Stimulus :-

Unequal Lip length in a drill causes / yaY=T # S HT forg ?IW'I% W‘cﬁ%l

® Hole size to be large than drill / %‘s{ HTPIR ua?Fﬁ ﬁ EGT@TIT



® Drill wears rapidly / T deit I ferht
® Strains the m/c spindle bearing & other parts / A &t g’&m 3R 3= wﬁaﬁﬁwa&*ﬁ
* All of the above / SURIF THt

Correct Answer :-All of the above / SURIET T

68)

Question Stimulus :-

The secondary clearance of the taper lead bevel is ./ CUR WIS yqur (éaa) &1 fgdtae Aerit
CaL| gl

® 10°to 12° / 10° 9 12°
* 10°to 25° / 10° ¥ 25°
® 6°to12° / 6° 9 12°
* 3°t010° / 3° ¥ 10°
Correct Answer :-10° to 12° / 10° ¥ 12°

69)

Question Stimulus :-

Tube micrometer used for measuring . / Jd msaﬁﬂa BT UGN _ SINER-T ﬁl’E E.WT %I
e wall thickness of tubes or barrels / SJd 3R R Bt 'l:I-']E'I'QF
e thickness of fins / Tt W1 'FhET'&F
® mean diaofthread/ﬁ?ﬂﬁ'ﬂ@a?éﬁﬂﬂmﬁ
® none of the above /E:Iﬁ ﬁ aﬁé qﬁ

Correct Answer :-wall thickness of tubes or barrels / Jd 3R IXd Bt Hlers

70)
Question Stimulus :-

C.N.C machine are not manually operated. They are controlled by means of . / CNC U=IF 814 § Taiferd

TN T & wregw | e oo o 21
o Aprogramlwm



® An operator / Udh YdTdP

e Acam/Ud G|

® A plug board system / € W CIER LI
Correct Answer :-A program / Udh IR

71)

Question Stimulus :-

A gear wheel has 36 teeth (z) and 3 mm module (m) its pitch diameteris____./T® firaR ufgu ¥ 36
3Id (z) 8 iR 3 Frft Afsg@ m B s fmamr B

e 12 mm. /12 fired

e 75 mm. / 75 fodt

e 80 mm. / 80 fa

e 108 mm. / 108 fAreft
Correct Answer :-108 mm. / 108 e}

72)

Question Stimulus :-

Thread grinding requires work speed from ./ AS ﬁmrs‘a-ﬁ P o Tl
TP ¢ |

® 5 to 10 m/min /5 ¥ 10 m/min

®* 1 to3m/min/ 1 q3 m/min

* 14 to 20 m/min / 14 ¥ 20 m/min

e 10 to 14 m/min/ 10 d 14 m/min
Correct Answer :-1 to 3 m/min /1 ¥ 3 m/min
73)

Question Stimulus :-

To turn an external angle having 609 included angle, the compound slide to be set to
. / U 91849 B0 & eaq & g e 600 siaifd Hur g, sRUsS WRSH W
@nfﬁ?rmﬁml



e 60"

e 300

e 90"

o 450
Correct Answer :-30°
74)

Question Stimulus :-

Hand file is also called as? / 8¥d ﬁ G| - W el SIIdl %I
® Rasp cut file /'Fﬁ'(_P[ PIe It
o Safe edge file / gR&T B ¥l
® Rough file / =& EGi|
e Smooth file / et ¥

Correct Answer :-Safe edge file / JX&T DI Yl

75)

Question Stimulus :-

A wrong way of lifting a heavy loads causes? / Y 3-13'{ B, TAd b A IEM & SR FT gial %?

® Damage to the load /@"5[ G| RCGIE| @’cﬂ %
o Injuries to the spine of the body / IR ! g B! §II B! dlc WAl
* Loss of time / T¥A PI §T §IHl o
® Damage to the machinery / == B RCRIG] @’tﬂ %
Correct Answer :-Injuries to the spine of the body / TRR DY ﬂ?{ 4| ng P dic Tt %



